19:59 AM

2/27/2024 11

ﬂ"

- WALL SCHEDULE GENERAL PLAN NOTES
SEE WALL ASSEMBLIES SHEET FOR ADDITIONAL WALL INFORMATION
TYPE DESCRIPTION RATING | UL # 1. SEE SHEET G103 FOR DETAILED WALL TYPE ASSEMBLIES.
EW.01 4" BRICK ON 8" CMU 2. SEE REFLECTED CEILING PLANS FOR CEILING HEIGHTS AND
EW.01A 4" BRICK ON 8" CMU, 3/4" PROJECTED MATERIALS.
EW.01B | 4"BRICK O,,NS CMU 'NF',,LL@EX'ST'NG 3. UNLESS NOTED OTHERWISE, ALL FURNITURE & EQUIPMENT
EW.02 4" BRICK ON 12" CMU SHOWN DASHED/GRAYED-OUT ARE FOR INFORMATIONAL
EW.02A | 4" BRICK ON 12" CMU, 3/4" PROJECTED PURPOSES ONLY. THEY ARE NOT TO BE BID AS PART OF THIS
EW.03 MTL PANEL ON 8" CMU PROJECT.
EW.04 12" CMU, (INTERIOR RETA/RING WALL) 4. SEE ENLARGED PLANS IN THE 400 SHEETS FOR FURTHER
EW.52 | 4" BRICK / RIGID INSULATION ON TWO SIDES :
EW.53 4 BR'CKRBEOTL';'N?,L%E\%QE‘JZ" CcMmu 5. PROVIDE CONTROL JOINTS (C.J.) AS OUTLINED IN THE
( : ) PROJECT SPECIFICATIONS AND WHERE INDICATED ON PLANS
IW.03 8" CMU TO DECK AND AT CRITICAL LOCATIONS.
IW.04 12" CMU INFILL
IW.21 3 5/8" MTL STUD TO DECK 6. SEE THE DOOR SCHEDULE ON SHEET A601 FOR DOOR
IW.21A | 5/8" GYP BD ONE SIDE ON 3 5/8" MTL STUD HARDWARE INFORMATION.
TO DECK
a 7. PROVIDE CORNER GUARDS (CG) AT LOCATIONS NOTED ON
IW.21B | 1/2" CEMENT BD-TILE ONE SIDE ON 3 5/8"
n @ a Y gpaghatlytiote: WALL FINISH PLANS. SEE 8/A605 FOR CORNER GUARD DETAIL.
W EW.01 W IW.22 | 5/8" GYP BD BOTH SIDES ON 6" MTL STUD TO 8. ALL ITEMS INDICATED TO BE O.P.C.I. OR O.P.O.I,
' DECK CONTRACTOR SHALL PROVIDE AND INSTALL ALL BLOCKING
T T ] IW.22A | 5/8" GYP BD ONE SIDES ON 6" MTL STUD TO REQUIRED TO INSTALL ITEMS PER MANUFACTURERS
1] ] DECK RECOMMENDATIONS.
1 o= mim IW.24 8" CONC. AT ELEV. PIT
1] i ImN FURRED WALL. STUD TO DEG CLOSET TO COMPLY WITH 604.6 OF ICC A117.1-2009.
N Lo T | IW.26A | 172" CEMENMTTEL‘%'TTLLE')ETOC')“EESC'?(E ON 3 5/8° 10. CONCRETE SLOPE AT EXTERIOR DOORS, EXIT-SIDE, SHALL
==18 103.03 T BE MAX. 1/4" PER FOOT, PER ICC A117, SECTION 404.2.3.1.
, H—| | IW.27 | 1/2" CEMENT BD-TILE ONE SIDE ON 6" MTL
o Bl N4/ il STUD TO DECK
' S s W21 ) 1] IW.28 INTERIOR FURRED WALL
| | . . o [ |
T \\\\\\\ ] & iy ] IW.29 | INTERIOR BRICK INFILL ONE SIDE, GYP. ONE
L E =" ~ NN SIDE
gy [ W03 ] oy RW.01 8" CMU TO DECK, 1HR RATED 1HR | UL-905 WALL RATINGS LEGEND
1 wda T RW.02 12" CMU TO DECK, 2HR RATED 2HR | UL-906
L] 1 RW.03 4" BRICK BOTH SIDES ON 12" CMU, 1 HR 1HR | UL-905
u (i T RATED —- - - - -— 1 HOUR RATED
— L 5 —IW.03 1
] w Im. -- -- -- 2 HOUR RATED
Bim FE imill ———————— 4 HOUR RATED
@ = = @ PROVD
1] - - ‘o iy e RE EQ&@W EPYULECTES
I 1H— ’l?K ?3 H—HT | _/\% SHEE ENLA| [y iy k' ITIONAL EOm%IINF RMATION
e ImE o T FEC FIRE EATINGUISHER CABINE | C.F.C.I.
=i e 1 MB1 8 MARKERBOARD WITH CP.CL.
] ImN INTEGRATED TACKSTRIP
| H— || MS1 METAL SHELVING 24" x 48" | C.P.C..
i [ 103 g Imn MS2 METAL SHELVING 18" x 48" | C.P.C..
Wi ( % . a MS3 METAL SHELVING 18" x 36" | C.P.C.l.
B I | 1 | TB1 4' X 8 TACKBOARD CP.CI | MOUNT @
] =—1W.03 I I ] w 2-2"AFF.
L 5 I I ] o (U.O.N.)IN
— © I I H— [ TEACHING
M i | L varies>fr? 1 AREAS
Hjis AN o i/l
- \[A502 \ }[\ _ =
| ——IW.03 —ﬁ' e ]
T ' o apr— METAL 1l o
] +-234 | ADDER ImN
] o = i/ =
[ a IW.03 - IW.03 g
B . W R | NEW ADDITION | EXISTING BUILDING
() y | i (5 ) - -
s = i YT,
—{ Ll Ve L RW.03
L A(é@ﬁg yww: Tt 7Tttt rr Tt T
] N\ T T T T T T 1T T T T T T [T T A B T A A B
L ) LT TTTTTTTT HEEEEEEEN [ T 11 HEEEEEEEEEEEEEEEEEEEN [ T 11 crrrrrriprrrrrrrrrrrrrrrrrrrr e r T e e e T Tl
L] = IW.03 IW.22 .
| | _ co
[ ] < %
L N
Bim EQUIPMENT
] PLATFORM
B Iz MZ02 ;
: L] IW.03 W IW.03——emta
[ e RW.02—
| . \
= I IW.22—=p |
Ll - | IW.03 |
a ] 4-0 ] sTAR3 !
\A203/ 1] | - E=E
T IW.21A I
L VAU | |
— [ ! A—E N
Hn IW.03 V- = |
] (Rt IW.03 o I ——
i | Vv
L] A1 o I . " "
o (NI YH VP g g | 141" g'-8" 214" 16'- 0" 21'-5" 21'-3" ) 16'- 0" 22'-0 14" 31440 7/g4 304
- ™ i ﬂ
[y " | | IW.03 IW.22 IW.03 IW.03
IW.03 : . . _ : R
1 I I |vv,03 W.03 o3 W.03 & IW.03 A
-~ nr 0 K 0" F*— _ ‘K- ______ fae) fae) [
| : T = = : o A ‘ -
- : D/ﬁ ——————=- — - - N e LT
B 3 FE K 7 > 117 \
B . EQUIPMENT > > -& MZO 1A
L] o PLATFORM o 10—t
] - § MZ01 | | 2TREADS @ 12" EA '\
o (1 .03 equipment WA LF | o EXISTING
i A PLATFORM S - s : N UTILITY
— L] MZ02 IW.03 IW.03 b ' i .03 7 IW.03 PLATFORNM
T . IW.03 IW.22 IW.03 g IW.03 + « : MO003
L] IW.03 [W.21 A-emp @ =o
7777 r1|_ " 60 -
| , 0 9-8" 2 FIRE RATED IW.03
| W03 ELEVATOR CAP,
- i SEE STRUCT. DWGS.
777, =O " "
o 94" L 9-0" o 25'-37/8" 8 -g" 21'-4.1/4" 16'- 0" 428" 16' - 0" 22'-0 1/4" 31440 7/g4 3/4
IR 7
B Ly ;
L 1 &
[ . 1 % NOTE:
H K IW.22 i ONLY AHU & DUCTWORK THAT RW.02—
ulim 3 PENETRATE THE EQUIPMENT o3
T PLATFORM WALLS SHOWN FOR 03—
] W03 CLARITY PURPOSES; REFER TO
(At MECHANICAL DWGS. FOR COMPLETE
L @ }*A MECHANICAL DUCT & EQUIPMENT
] ™ INFORMATION
o | IW.03
il A NS
1 w0
L \\\\U\ EW.01 1] IW.03 < weet 5
1 Il :‘ < 1
A305 [ I % oPENTO A303
1| ‘_-"_\‘ BELOW I I I I I O A I I N O A I N
(A HEEEEN HEEEEEEEE L[] HEEEEEEEEEEEEEEEEEEEN L[] HEEEEENIIEEEEEEEEEE NN EEEEEEE
(— IW.03 vnisN 1 P rrr v ]
T IW.03 *)“’
] L1 RW.03
e S % ’\f\{ Y & t7’7
= TN i (2 )
(] RW.01 ,Ef W
X DEi§
71:‘ 25 I
HiRg 5 il
775\ i 8 RW.02 il
L[] ] RW.01—=t| 1}
Sign ‘ ‘ i
- 7= = il
HIT TmH

EQUIPEMENT PLATFORM FLOOR PLAN

1/8" = 10"

DESIGN ‘
rethink, repurpose, results ‘
SHELBY CHARLOTTE
201 S. Washington St., Suite 200 1230 W. Morehead St., Suite 214
Shelby, NC 28150 Charlotte, NC 28208
704/406-6000 704/731-7000
RALEIGH LEXINGTON
6131 Falls of Neuse Rd., Suite 204 1070 S. Lake Dr., Suite J
Raleigh, NC 27609 Lexington, SC 29073
919/573-6400 803/356-0507
antiny,, wWitiliyy
WYNWFORD v, o "y,
o C)?J\\N D & S, N < CAR 0.,
& 6‘ . \\ (
S N /,
S S
S0 <
33 T
a3 =
B
%%
AV

COOPER ACADEMY
A &R

PROJECT TITLE

"CLIENT'S PROJECT" # - XXX

L

G

1. THIS DRAWING IS THE PROPERTY AND ©BOOMERANG DESIGN P.A. AND IS
NOT TO BE REPRODUCED OR COPIED IN WHOLE OR IN PART. IT IS NOT TO BE
USED ON ANY OTHER PROJECT AND IS TO BE RETURNED ON REQUEST.

2. MATERIALS, DIMENSIONS AND ALL OTHER CONDITIONS WHICH ARE NOT
OTHERWISE DEFINED ON THIS DRAWING SHALL BE CONSTRUED AS HAVING THE
SAME MEANING AS SIMILARLY INDICATED CONDITIONS WHICH ARE MORE FULLY
DEFINED ELSEWHERE ON THIS PROJECT OR OTHER DRAWINGS OF THIS PROJECT.

3. DO NOT SCALE OFF DIMENSIONS.

REVISIONS A\
NO. DATE DESCRIPTION
1 02/27/2024 ADDENDUM 2
BID SET
PROJECT PHASE

2307

BOOMERANG DESIGN PROJECT NUMBER

02.07.2024

DRAWING RELEASE DATE

EQUIPMENT PLATFORM
FLOOR PLAN

SHEET TITLE

Al103

SHEET



